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BACHELOR OF ARTS (HONOURS)
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Term-End Examination
June, 2025

BECC-110 : INTRODUCTORY ECONOMETRICS

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from all the Sections as

per instructions.

Section—A

Note : Answer any two questions from this

Section. 2%20=40

1. (a) Describe a Population Regression

Function. Explain the significance of
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the stochastic disturbance term wi in a
regression model. 10

(b) State the assumptions of a Classical

Linear Regression Model (CLRM). 10
Specify a multiple regression model. Explain
how its parameters can be estimated using
OLS method. 20
What is meant by autocorrelation ? What
are 1its consequences ? Describe any one
method of detecting autocorrelation in a
dataset. 20
Consider a regression model :

Y; =By +BoXy; +BsXg; + By Xy + 1y
Explain the Restricted Least
Squares approach to test the hypothesis
that X3 and X4 do not influence the

dependent variable. 20
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Section—B

Note : Answer any four questions from this
Section. 4x12=48

5. Consider the regression model :

Y, =B +BX; +u;

Show that :

2 _ ESS
TSS

where R2Z= Coefficient of determination
ESS = Explained sum of squares
TSS = Total sum of squares
6. What is meant by multicollinearity ?
Discuss the consequences of multi-
collinearity.
7. Explain the problem of ‘omission of relevant
variable’ in an econometric model.
8. Explain the concepts of “Type I and Type 1I

errors’ and ‘Power of a test’.
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9. What do you mean by ‘heteroscedasticity’ ?
Write down the steps of ‘Goldfield-Quandt’
test for detecting heteroscedasticity in a
regression model.

10. What is the meaning of ‘dummy variable’ ?
Consider the following models :

@ Y, =B, +B:.D; +y
(1) Y, =B +B.D+PsX; + 1
Interpret the above models.

11. Specify the regression models for the
following functional forms :
(1) Semi-log Model

(1) Log Linear Model

Interpret the parameters in both models.
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Section—C
12. Write short notes on any two of the
following : 2X6=12
(a) Chow test
(b) Jarque-Bera (J-B) test
(¢) Durbin-Watson test of Autocorrelation

(d) Dummy Variable Trap
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1. (31) SFEEA gHgEe (YfaE) Hed s 9o

HIT | Tk i wied | ga9e Jfe 93

wi % He<d i AR hifoIU | 10
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PN o

() Tk FAgeh g Iees IfamH T disd sl Ar=rard

TS | 10

2. U SgaHIsEv Hed e Hifew| wmsme f&

9 U=d fRg ¥R OLS fafy =1 3wam &

AR Ted foru ST Hahd €1 20
3. WHRgERY ¥ 7 YT ¥ ? 3 A gRumm
g ? T siihel & IR § WHeEErY & B T Il

T ! fordll e faf¥ =1 9oiF sifse | 20

4. 7= g gied W fa=m Sifsu
Y, =By +BoXy; +B3 Xy +B, Xy + 1

IiteheT T, T Xs 3R X, anfea =X o1 guifaa =&

FA §, B T HE b Ylqefed =Aam aif

gfteanlvl i A& SifT | 20
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a—a
Fe: Y UM H F fR=l a) g3l & I S |

4%x12=48

5. 7= gmgo Oted ) fo=ar wifau .
Y, =B +B:X; +
T9IsT T :

go _ ESS
TSS

&

Sl ;. Rez= e qome

ESS = 97 sl sAReA1Id A
TSS = =it &1 /A AT
6. TEEREM § T AYE ¥ ? TIgEREd & qRomE
i == it |
7. T&h Adfudg dfed # ‘UM R & T &

T hi ST hify |
8. ‘TEU-| 3R 2rEu-1I Ffe' den ‘uieror &t wfed’
STAYRON h! THEY |
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9. ‘foomfomftar’ & oMU w1 AU T 2

Th guisEu died §  founfgaiar w1 U«

AT F Tieehice-gaige’ T & WO hl
fefem

10. MU =) (S =R) w1 g0 1 § ? FAfaten
Ateel W fa=ar wifs
@) Y =B +BD; +1y

(1) Y, =B +B.D+P;X. + 1

SUYK HISTll ohl ATEATIA HiTIT |
11. frfafed wafte &4 & fau wmsEo Atea

i ife

() STH-TTUER Y A
(i) TR e Hiea

NN [aWa

i AiSell § YTeell shl SameATad shifold |
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AR

frfafed § 9 fosi @ X gfya fewfoat fafem
2X6=12
(37) =TS Tdreru

(&) -9 (J-B) Tieror

() THEHY hi SIfe-aredT Tl
(T) arEt =) (91 =R) S

X X X XX

D-3308/BECC-110



